
PAGE 1 OF

REV.

TOOL BOX

BUL10245
A

1

RRAL - SERIES ASSEMBLY INSTRUCTIONS FOR
ALUMIUM RELAY RACK JOINING KIT RRALJK

HAMMOND
MANUFACTURINGTM

ELECTRONICS GROUP

visit our website @ www.hammondmfg.com

RRAL alum. relay
rack frame

RRAL alum. relay
rack frame

2 3 4

4 1

9/16" Socket
Wrench

9/16" Open End
Wrench

ASSEMBLY INSTRUCTIONS:

A)  Position the alum. relay rack frames side by side so
      that assembly holes in both sides of each frame line up.

B)  Secure the rack frames using the 3/8 hardware as
      shown thru the corresponding holes in each rack frame
      as shown.

ITEM No. DESCRIPTION QTY
1 3/8-16 HEX HD SCREWS 6
2 3/8-16 HEX HD NUTS 6
3 3/8 LOCK WASHERS 6
4 3/8 FLAT WASHERS 12

PARTS LIST


